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GENERAL APTITUDE

10.

11.

12.

13.

14.

15.

16.

The different group of stars is known as

A) Constellations B) Celestial bodies C) Asteroids D) Comet
Which country has two-party system?

A) India B) Sri Lanka C) United Kingdom D) Nepal
Which of the following is a macro nutrient?

A) Mn B) Mg C) Cu D) Zn
The process of evaporation causes

A) Cooling B) Heating C) Dryness D) None of these
Place directly above focus on Earth’s surface is known as

A) Strike B) Comma C) Epicenter D) Origin
How does light normally travel?

A) In concentric circles B) In a straight line

C) Always towards a dark area D) In a curved line

First Country to undergo industrial revolution:
A) France B) Britain C) Germany D) USA

A solar water heater can not be used to get hot water on
A) A sunny day B) A cloudy day C) A hot day D) A windy day

In India, the first cotton mill was set up in
A) Madras B) Bombay C) Kanpur D) Surat

Regur soil is the other name of
A) Black soil B) Alluvial soil C) Arid soil D) Laterite soil

HCF of 84 & 270 is
A) 8 B) 6 C)4 D)2

The sum of first five multiples of 3 is:
A) 45 B) 65 C) 75 D) 90

7:12 isequivalent to:
A) 28 :40 B)42:71 C)72:42 D)42:72

Find the simple interest on the Rs. 2000 at 25/4% per annum for the period from 4™ Feb 2005 to 18" April 2005
A) Rs. 35 B) Rs. 30 C) Rs. 25 D) Rs. 40

The average of 20 numbers is Zero. Of them, at the most, how many may be greater than zero?
A)0 B) 1 C) 10 D) 19

An athlete runs 200 meters in 24 seconds. His speed is?
A) 10 km/hr B) 17 km/hr C) 27 km/hr D) 30 km/hr

1385_17 (C) 2



17. Every rational number is
A) A natural number B) An integer C) A real number D) A whole number

18. What decimal of an hour is a second?

A) .0025 B) .0256 C) .00027 D) .000126
19.  Afruit seller had some apples. He sells 40% apples and still has 420 apples. Originally, he had how many ?
A) 588 apples B) 600 apples C) 672 apples D) 700 apples
20. A does awork in 10 days and B does the same work in 15 days. In how many days they will do the same work
together?
A) 5 days B) 6 days C) 7 days D) 8 days

DOMAIN KNOWLEDGE

21. Whenalead-acid battery is in fully charged condition, the color of its positive plate is

A) Dark grey B) Brown C) Dark brown D) None of above
22. The active materials of a nickel-iron battery are

A) Nickel hydroxide B) Powdered iron and its oxide

C) 21% solution of KOH D) All of the above
23. The ratio of ampere-hour efficiency to watt-hour efficiency of a lead-acid cell is

A) Just one B) Always greater than one

C) Always less than one D) None of the above.

24. The best indication about the state of charge on a lead-acid battery is given by

A) Output voltage B) Temperature of electrolyte
C) Specific gravity of electrolyte D) None of the above
25. The output voltage of a charger is
A) Less than the battery voltage B) Higher than the battery voltage
C) Same as the battery voltage D) None of the above

26. Cells are connected in series in order to
A) Increase the voltage rating B) Increase the current rating
C) Increase the life of the cells D) None of the above

27. Five 2V cells are connected in parallel. The output voltage is

A)1V B) 1.5V C)1.75V D)2V
28. The capacity of a battery is expressed in terms of

A) Current rating B) Woltage rating C) Ampere-hour rating D) None of the above
29. During the charging and discharging of a nickel-iron cell

A) Corrosive fumes are produced B) Water is neither formed nor absorbed

C) nickel Hydroxide remains unsplit D) Its e.m.f. remains constant
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30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

As compared to constant-current system, the constant-voltage system of charging a lead acid cell has the advantage
of

A) Reducing time of charging B) Increasing cell capacity

C) Both (A) and (B) D) Avoiding excessive gassing

A dead storage battery can be revived by

A) Adding distilled water B) Adding so-called battery restorer
C) A dose of H,SO, D) None of the above

As compared to a lead-acid cell, the efficiency of a nickel-iron cell is less due to its

A) Compactness B) Lower e.m.f.

C) Small quantity of electrolyte used D) Higher internal resistance

Trickle charging of a storage battery helps to

A) Maintain proper electrolyte level B) Increase its reserve capacity

C) Prevent sulphation D) Keep it fresh and fully charged
Those substances of the cell which take active part in chemical combination and hence produce electricity during
charging or discharging are known as materials.

A) Passive B) Active C) Redundant D) Inert

In a lead-acid cell dilute sulphuric acid (electrolyte) approximately comprises the following

A) One part H,0, three parts H,SO, B) Two parts H,O, two parts H,SO,
C) Three parts H,O, one part H,.SO, D) Al H,SO,

It is noticed that during charging

A) There is a rise in voltage B) Energy is absorbed by the cell

C) Specific gravity of H,SO, is increased D) All of the above

It is noticed that during discharging the following does not happen

A) Both anode and cathode become PbSO, B)Specific gravity of H,SO, decreases
C) Voltage of the cell decreases D) Cell absorbs energy

The ampere-hour efficiency of a lead acid cell is normally between

A) 20 to 30% B) 40 to 50% C) 60 to 70% D) 90 to 95%
The watt-hour efficiency of a lead-acid cell varies between

A) 25 to 35% B) 40 to 60% C) 70 to 80% D) 90 to 95%
The capacity of a lead-acid cell is measured in

A) Amperes B) Ampere-hours C) Watts D) Watt-hours
The capacity of a lead-acid cell depends on

A) Rate of discharge B) Temperature C) Density of electrolyte D) All above
When the lead-acid cell is fully charged, the electrolyte assumes appearance

A) Dull B) Reddish C) Bright D) Milky

The e.m.f. of an Edison cell, when fully charged, is nearly
A) 14V B)1V C)o9V D) 0.8 V
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44,

45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

The internal resistance of an alkali cell is nearly times that of the lead-acid cell.

A) Two B) Three C) Four D) Five

The average charging voltage for alkali cell is about

A)1V B) 1.2V C)1.7V D)21V

On the average the ampere-hour efficiency of an Edison cell is about

A) 40% B) 60% C) 70% D) 80%

The active material of the positive plates of silver-zinc batteries is

A) Silver oxide B) Lead oxide C) Lead D) Zinc powder
Lead-acid cell has a life of nearly charges and discharges

A) 500 B) 700 C) 1000 D) 1250

Life of the Edison cell is at least

A) Five years B) Seven years C) Eight years D) Ten years
The internal resistance of a lead-acid cell is that of Edison cell

A) Less than B) More than C) Equal to D) None of the above

Electroplating is done
A) To protect the metals against corrosion B) To give shiny appearance to articles
C) To repair the worn out materials D) All of these

The article to be electroplated is connected to

A) Cathode B) Anode C) Caution D) Positive
The electro-plating is usually adapted for maximum of thickness.

A) 0.02 mm B) 0.05 mm C) 0.10 mm D) 0.20 mm
Galvanizing is the process of applying coating to steel or iron in order to prevent rusting.
A) Zinc B) Tin C) Lead D) Chromium

For galvanizing, the steel is first cleaned in
A) Acid bath B) Alkali bath C) Neutral bath D) Ait bath

Which one of the following is the process NOT used in metal spraying?
A) Flame B) Arc C) Plasma D) Resistance

Buffing is which type of operation?
A) Cutting B) Shearing C) Polishing D) None of these

Process used to deposit one metal over another metal is called
A) Electrolysis B) Electroplating C) Carbon plating D) None of above

In electro polishing work piece act as
A) Anode B) Cathode C) Both (A) & (B) D) None of these

Which power source used in electro polishing?
A) AC B) DC C) Both D) None of these

1385_17 (C) 5



61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

74,

75.

While comparing magnetic and electric circuits, the flux of magnetic circuit is compared with which parameter of
electrical circuit?

A) EM.F. B) Current C) Current density D) Conductivity

The unit of reluctance is

A) Meter/Henry B) Henry/meter C) Henry D) 1/Henry

A ferrite core has less eddy current loss than an iron core because

A) Ferrites have high resistance B) Ferrites are magnetic

C) Ferrites have low permeability D) Ferrites have high hysteresis

Hysteresis loss least depends on

A) Volume of material B) Temperature C) Frequency D) Ambient temperature
Laminated cores, in electrical machines, are used to reduce

A) Copper loss B) Eddy current loss C) Hysteresis loss D) All of the above
“The mass of an ion liberated at an electrode is directly proportional to the quantity of electricity”. The above
statement is associated with

A) Newton’s law B) Faraday’s law of electromagnetic

C) Faraday’s law of electrolysis D) Gauss’s law

The charge required to liberate one gram equivalent of any substance is known as constant

A) Time B) Faraday’s C) Boltzmann D) None of these
During the charging of a lead-acid cell

A) Its voltage increases B) It gives out energy
C) Its cathode becomes dark chocolate brown in color D) Specific gravity of H,SO, decreases

The capacity of a lead-acid cell does not depend on its
A) Temperature B) Rate of charge C) Rate of discharge D) None of these
The active materials on the positive and negative plates of a fully charged lead-acid battery are

A) Lead and lead peroxide B) Lead sulphate and lead C) Lead peroxide and lead D) None of the above

Electrolyte used in an Edison cell is

A) NaOH B) KOH C) HCI D) HNO,
Electrolyte used in a lead-acid cell is

A) NaOH B) Only H,So, C) Only water D) Dilute H,SO,
Negative plate of an Edison cell is made of

A) Copper B) Lead C) Iron D) Silver oxide
The open circuit voltage of any storage cell depends wholly upon

A) Its chemical constituents B) The strength of its electrolyte

C) Its temperature D) All above

The specific gravity of electrolyte is measured by

A) Manometer B) Mechanical gauge C) Hydrometer D) Psychomotor
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76.

7.

78.

79.

80.

81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

When the specific gravity of the electrolyte of a lead-acid cell is reduced to 1.1 to 1.15 the cell is in
A) Charged state B) Discharged state C) Both (A) and (B) D) Active state
Electrolyte used for tin plating is

A) Sulphide ore B) Stannous sulphate C) Hydrogen sulphate D) Sodium chloride
The removal of a non-neutral subatomic particle converts the atom into a:

A) Charged ion B) Nucleus C) Heavier element D) Compound
One coulomb passing a point in one second is called a unit

A) ampere B) volt C) ohm D) Charge

In which states many matters may be found?

A) Solid, liquid, or mineral B) Solid, gas, or liquid C) Mineral, gas, or liquid D) Plastic, solid, or gas
When sulphate molecules reacts with the water then

A) Hydrogen is liberated B) Oxygen is liberated

C) Sulphur dioxide is formed D) All of these

The metal oxide rectifier used for electrolytic process is placed along with the transformer

A) Inside the oil B) Outside the transformer but near to it

C) Outside the transformer but far from it D) Half immersed in the oil

When considering conventional current versus electron current flow:

A) Electron current flow came first B) Protons move in conventional current flow
C) Conventional current flow came first D) The direction of current is the same in both methods
Which unit of charge contains 6.25 x 1018 electrons?

A) One ampere B) One coulomb C) One volt D) One joule
Conditions for good electroplating are

A) High current density B) Low temperature

C) High concentration of metal in electrolyte D) All of above

The term used to designate electrical pressure is:

A) voltage B) current C) resistance D) conductance
Which electronics material opposes the movement of free electrons?

A) Conductor B) Insulator C) Semiconductor D) Element
Current is considered as the movement of:

A) Electrons B) Protons C) Charge D) Nuclei

A lead-acid battery is an example of a

A) Solar cell B) Fuel cell C) Primary battery D) Secondary battery

The charge of one coulomb is equal to:
A) 6.24 x 10*® electrons  B) One ampere C) One second D) 6.24 x 1018 electrons
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91.

92.

93.

94.

95.

96.

97.

98.

99.

100.

A basic electric circuit is made up of what components?

A) A load, a resistor, and a conductive path for current

B) A voltage source, a load, and a conductive path for current
C) A voltage source, a conductive path for current, and a battery
D) A conductive path for current, a battery, and a copper wire

An ammeter is used to measure

A) Voltage B) Current C) Resistance D) All of the above
What is the name of the pressure that moves electrons in a closed circuit?

A) Amperes B) Ohms C) Voltage D) Coulombs

The power required for electro-deposition is

A) DC and very low voltage B) DC and high voltage
C) AC and very low voltage D) AC and high voltage

The energy required for refining of gold in kWh / tone is about
A) 100 to 150 B) 250 to 350 C) 300 to 350 D) 350 to 400

If a fluid system is compared to an electrical system, the fluid pump will correspond to a:
A) Conductor B) Lamp C) Battery D) Insulator

The metal which can be extracted from its ore by the method of electrolysis is /are
A) Zinc B) Aluminum C) Copper D) All of these

On industrial scale sodium metal is prepared by electrolysis of fused
A) NaOH B) NaCl C) Na,0 D) NH,

What do you call a diagram that shows the electrical connections of a Circuit’s components?
A) A schematic diagram  B) Apictorial diagram C) A block diagram D) An electrical diagram

When zinc is plated on steel, anode is made up of
A) Steel B) Oxygen C) Zinc D) Carbon
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A) oI B) ol C) Gzl D) Frrelz s=ize
@ (I FOIS (FTETH STole HF6 (OITe0e 2A4lTe o 63 T Tolg

A) @bz 2R ol B) @b SrerGIsRa 6= Tofa

C) «fbs wisisial D) ¥ =%
BRGS0 SRS @ T frca ot =

A) SHICITGE B) Cplfel=plat siet C) 2EryiftE D) MIEGI NG

e G5 FTO-SHI (TCeTa BEFGIFBC57 ST @2Pg 1.1 (AT 1.15 T 20 e (Telb (F S2RI A
NSRRI B) f&abere sz C) (A) €% (B) Ten D) Sy S=3!
e (2152 99 &l (T BCERCEIETIRE 2T T 2T —

A) ATFRG SFF B) Y551 S C) 2ZTGITS ATCHH D) Gifea @Fiize
FI-TTCG T AT Fo5! ST GOITET SHGCR (T oS 90O

A) BIETG S B) frefaam C) SI e D) Gt (F=7I1T)
G FoTH GF (0L G0 ACACH SO FACE OIF G0 G Tl T |

A) STz B) oI5 C) ez D) 5ist

(I SRR S I (IO 2N (A0S 7T 2
A) 3w, Saear dfie  B) e, Al ews  C) 2fers, st At wwe D) 205, o1 A1 517
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8l Y ARCEG oI GreTs A ez wom —
A) ZRTgiteE efezn B) wifSice efe 2 C) T T2 ST Teom 20 D) 71 6

82. GETTANICH (T X TR IANR0F & o Trel) AIES 4] SRAIBT (FFHPRT TG© 87 —

A) (ST ST B) GIRFIICHE A1BCH g wifs fo/eis

C) GRTFIICER A2 G S0 7T D) (ST T4 ST (wS(ees SRgIT
83.  FCSACANE FICID I ARG PICID IR T (T GO0 906 —

A) BTG FICHB (ZF AL SINCH B) FHCSHCAIE ST (ZFICS (2B AT o

C) FACSIE FIID G AL ST D) 93 A&feres FIET @ 5if @2 s
84.  BITE (I GG 6.25 x 1018 ZCETFGT LI FC 2

A) O3 SR B) 4 1R C) €= (S5 D) «< &
85. Il CERGICADR @3 =% (2t —

A) TH FICIT g B) =g i@t

C) (B1eT ZCTRACGIHTIZLHH T Telg D) ¥1 &%
86. G Ca ZCerelmieT (@ R re & -

A) (SITHS B) FICIT C) la D) FICI0I1
87. (I BRGNS oI & BCATRGLT =0 Il (73 2

A) FTCEGH B) 204 C) G -Te54 D) @fefars
88. (IO &RIR (T FICHD TeT 27 2

A) TG B) (aii= C) bret D) fTefFz
89.  (FTE-IfTe IR 4 St —

A) GTE T B) & OTed C) aliz=ifa FiGifa D) caaifa oI

90. OF FHCH B (@HF ATgeT :
A) 6.24 x 103G B) 9 Sy~ C) I (TS D) 6.24 x 1018 Z(&TRG

91. «3fb i BrE i ARG 71w aifds —
A) G35 (511G, G0 (F4 9% G FIACHA #1772 72
B) 41> (SITHS B, GF(H (R IR GH(B FILACHH 21772 212
C) ¢ (SIT0%, G FICACHS “ATFaZ 712 3R 96 A6
D) @36 FITACHA 7If72e 7121, 936 5ifF 93k @6 omg o

92. SRIGR [ ete R T 2
A) (SITHS B) FICIT C) la D) & 3

93. (b T NFCE (T BICoH Sy BCERG LA HoT TLH —
A) g~ B) €z5% C) CeItve D) Jo1%
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94.

95.

96.

97.

98.

99.

100.

G- TN eIt oy (@ *ifefoa ares —
A) fF1 @3 47 95 (eItete B) f&f1 @2z T (eIt=ver
C) @it @32 47 7% (SIeve D) «f1 ¥3% T (SIS

kWh / tone @ @Il “AfRCNTRR &) (3 * IS4 AT ©f 217
A) 100 (2T 150 B) 250 (27 350 C) 300 (27 350 D) 350 (2t 400

46 F3C F15w 7t @35 BT GaieT FIEs TR AT gerl 391 20 ©r 3T o1~ e 28 —
A) FTIFG B) &= C)rioif D) ZCsio4

A GIABIM AT ST S 200 (3 4roft/ @ fer fmm s —
A) & B) SO C) i D) "R

%151 (G AFGIAIROP 2Iafere EUfSam (e s 391 23 TR fRFoee SRE) (AF —
A) NaOH B) NaCl C) Na,0 D) NH,

(@ 5@t MEG THAMITTT AL BRI A<l o0 e ot [ e sifafow 2
A) FETF Bram B) bR Timias  C) 3% Sila D) 2CeTh G G

50T B 73w ok (it w21 231, smicare (S =1 frca ot —
A) 7551 B) SIHCE C) fox=s D) S
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